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Factoring Review Continued 

1) The height of a model rocket launched into the air from a rooftop is given by the quadratic equation  

h = -16t2+64t + 80, where t is the time in seconds since launch, and h is measured in feet. At what time does 

the rocket land on the ground?  

 

 

 

 

 

 

 

 

 

 

The rocket lands on the ground in __________ seconds.  

2) A missile is fired with an initial upward velocity of 2320 foot per second. The height can be modeled by h = -

16t2 + 2320t, where h is the height in feet above the ground and t is the time in seconds. Find the time it take 

the missile to reach a height of 40,000 feet.  

 

 

 

 

 

The missile will have a height 40,000 feet at ______ seconds and at ______ seconds.  

3)  What extra step is involved in factoring ax2+ bx + c = 0 when a is not equal to 1?  

 

 

 

 

4)  A model rocket is fired from the ground at time t = 0, and its height is given (in cm) by the formula h = -490t2 

+ 1470t, where t is measured in seconds.  

a) Write an equation to find when the height of the rocket is 980 cm.  

 

Answer:________________ 

b) Solve the equation by factoring.  

 

 

 

 

 

 

 

Answer: ___________________ 

a) Explain why there are two solutions to this problem. 

  

 

 

 



5)  As a satellite falls from outer space onto Mars, its distance in miles from the planet is given by the formula  

d = -9t2+ 776, where t is the number of hours it has fallen.  

a) Write an equation to find when the satellite will be 200 miles away from Mars.  

Answer: __________________ 

b) Solve the equation by factoring.  

 

 

 

 

 

 

 

 

 

 

 

 

 

Answer: _______________ 

c) Explain why only one of these solutions makes sense for this problem.  

 

 

 

 

 

  



Regents Questions:  

 
 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Extra Practice  

 
 

 

 

 

 

 
 

 

 

 

 

 


